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math 202.
Calculus 2.

Second Exam

Date: Saturday 11 /6 / 1432.
Time: from 21:00 to 22:30.
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y= tan~lx
%’ Domain: (—oo, o)
_______ T _____lia_nge: (—7/2, 7/2)
2
5 > X
_______ L
2
T - y
T | A |
| I
| I
y =itanh~'x |
| I
| I
| I
| I
> X
-1, 0 1
| I
| I
. . | I
The Unit Circle | |
| I
| I
There is a symmetry about the origin
. 1—cos26 1+ cos 26
sin“f = —— cos?f = ———
2 2
— —1 _ —1
y=8C Xx y =CS8C X

Domain: |x| =1
Range: [0, w/2) U (7/2, 7]

Domain: |x| =1
Range: [-m/2,0) U (0, 7/2]
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QL.

3
The length of the curve defined parametrically by x = 1(2t +3)z , y =t + 2t?
where t €[0,3], is

Hint: (t+2)2=t2+4t+4

(A)

9

(©)

10

(D)
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Q2.

3
The length of the curve defined parametrically by x = (2t +3)z , y =t +2t?
where t €[0,3], is

(A) (B) ©) (D)
9 > 10 2
Q3.
If f(x) =2x+3, then f7'(x) =
(A) (B) (©) (D) (E)
4x + 3 4x — 3 4x + 12 4x — 12 4x—§
Q4.
2 (In @ cosx)) =
7, Un (2cosx)) =
(A) (B) (©) (D) (E)
—cotx —tan x tan x cotx — 2tan x
Q5.
z 3cos6 10 =
fo 2+3sinf
(A) (B) ©) (D) (E)
In5 In 3 cos+/2 3C05_'2 lnz lnE
2+3sinv2 2+3sin2 5 2
Q6.
1
liI{l_l_ xx-1 =
(A) (B) (©) (D) (E)
e 1 1 e? 0




Q7.

6 X
lim (—) =
X—>00 5
(A) (B) ©) (D)
0 —00 0o e
Q8.
If |x] <1, then %(ex tanh™1x) =
(A) (B)
ex X -1 ex X h—l
1_x2—e tanh™ " x 1+x2+e tan X
(®) (D)
ex X -1 ex X h—l
x2_1+e tanh™ " x 1—x2+e tan X
QO.
tan(sec 1 3y) =
(A) (B) ©) (D)
VIy? +1 VIy? —1 V1 —9y? 9y?2 — 1
3
Q10.
lim sec™lx =
X—>—Q0
(A) (B) (€) (D) (B)
T T T T 1
3 5 2 4
Q11.
d
—(cos™tx —xsech™'x) =
dx
®w e © ©
—sech ™ x sech™ x —sech ™ x + sech ™ x
1 — x? 1 — x?
Q12.
cosh5x + sinh5x =
(A) (B) ©) (D)
5 cosh 5x 5 sinh 5x 1 e>x
o5x
Q13.
f at H | h
- int: complete the square
V—t? + 4t —3 b !
(A) (B) ©) (D) (E)
sin"!(t+2)+C | sin"'(t—2)+C | tan"(t—2)+C | tan*(t+2)+C Insin“'t+ C

B
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Q14.

j dt
V—t? + 4t — 3

Hint: complete the square

(A) (B)

sin"'(t+2)+C

sin"1(t—2)+C

(©) (D)

tan 1 (t—2)+C

tan 1 (t+2)+C

(E)

Insin1t 4+ C

Q15.

dx =

f 6x3 + 20x%2 4+ 16x + 5

X+ 2

Hint: Observe the degrees

A)
6x3—8x?2+5In|lx+2|+C

(B)
6x3+8x2+5In|x+2|+C

(©)
2x3—2x2+5n|x+ 2|+ C

(D)
2x3+2x%2+5n|x+ 2|+ C

(E)
2x3 4+ 4x2+5In|x+ 2|+ C
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Q16.

dx =

f 6x3 + 20x%2 + 16x + 5

X+ 2

Hint: Observe the degrees

(A)
6x3—8x?2+5In|lx+2|+C

(B)
6x3 +8x%+5In|x + 2|+ C

(©)
2x3 —2x?2+5n|x+ 2|+ C

(D)
2x3+2x?>+5In|x+ 2|+ C

(E)
2x3 +4x? +5In|lx + 2|+ C

Q17.
j X cosTx dx =

(A)
X 1
——sinmx + —cosmx + C
T T

(B)
x .
—sinmx — — cosmx + C
T T

(©)
X

1
—sinmx + —cosmx + C
T T

(D)

X 1
—sinmtx +—cosmx + C
T T

(E)
x .
—sinmx ——cosmtx + C
T T
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Q18.
j xcosmxdx =

(A)
X 1
——sinmx + —cosmx + C
T T

(B)
x .
—sinmx — — cosmx + C
T T

(©)
X

1
—sinmx + — cosmx + C
T T

(D)

x 1
—sintx +—cosmx + C
T T

(E)
x .
—sinmx ——cosmtx + C
T T




19.

j e*cosx dx =
(A)1 (B) ©) _
E(exsinx+excosx)+C Z(exsinx—excosx)+C e*(sinx + cosx) +C
(D) (E)

e*(sinx +2cosx)+ C

2e*(sinx + cosx) + C

Q20.
j cotx dx =
(A) (B) (©)
In|sinx| + C In|cosx| + C —In|sinx| + C
(D) (E)

—In|cosx| + C

In|cosx + sinx| + C




Answers to second exam
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